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B.A. VAC Ist Semester Examination, 2023

UENVVAC11001-ENVIRONMENTAL EDUCATION
FOR B.A.

Time Allotted: 2 Hours 30 Minutes Full Marks: 60

The figures in the margin indicate full marks.

[ Instruction ]

The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet Series,
Question Booklet SET on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the
candidate will be solely responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer /
option is found darkened, then the question will be treated wrong and will not be evaluated.

Example: Correct Method: O@ QO Wrong Method: % J® @

Answer all the questions / WWH%%W%/ 1x60 = 60
A0 AT T&d WIS / T HHTHD! SR [k

Choose the correct option / TId ITR BT TIT TN /
AF TeAT 3w T4 / Al fApeuas a7 THeN

1. Primary consumer of the ecosystem
(A) Herbivores (B) Omnivores (C) Scavengers (D) Carnivores
qTRRerfcreh! & T TTeIfies ST
(A) THTERY (B) TRy (C) FeRaR (D) HRITERY
AEOE 2T AP (F 9
(A) *NFIR (B) KgF (C) FcSed (D) SRR
eIt HTeIfids SUHIRhT &1 —
(A) 2THTERT (B) FEIRT (C) Scavengers (D) HRATERY

2. TUCN stands for —
(A) Internal Union Council for Natural Gas
(B) International Union Council for Nature
(C) International Union for Conservation of Nature and Natural Resources
(D) Internal United Council of Nations
TUCN &7 37ef § —

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources
(D) Internal United Council of Nations
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TUCN-«@3 372} 5ot f 9

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources

(D) Internal United Council of Nations
TUCN &1 qof Su & —

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources

(D) Internal United Council of Nations

Smog is a mixture of

(A) Smoke and fog (B) Snow and fog (C) Snow and Dust (D) Smoke and Dust
AN fehAehT fosror 8 2

(A) gareiRge™r  (B) QIRSARGEET  (C) TIR AN e (D) gt 3 gt
Cif 2ot 9 (s el

(A) i e Fmt (B) QI @ TN (C) $IF 8 4a1l (D) il @R geasell
Smog % BT FrsTor e 2

(A) Smoke and fog (B) Snow and fog (C) Snow and Dust (D) Smoke and Dust
Biosphere consists of —

(A) Lithosphere (B) Atmosphere (C) Hydrosphere (D) All of these
Stared ¥ fiefes aar & —

(A) TS (B) agHSe (C) TSRHRR (D) S5 & T
Glawes ofoe 27

(A) S (B) IR (C) alfresat (D) 7SR
SieHUSe Mfod & —

(A) Lithosphere (B) Atmosphere (C) Hydrosphere (D) It 9 89T
Dodo is —

(A) Endangered species (B) Rare species

(C) Extinct species (D) Ceritically endangered

Dodo T 37 & —

(A) FHIRT: FTfoRaT (B) Got¥ SIoTfer

(C) firege ey (D) TR FHYR: Tt

(TICTl 26T

(A) R gwife (B) 5= ewiife (C) [Reye ereife (D) Sife-Reofn eerife
SIS P 8l 2

(A) faeTHoTR: ST (B) Got¥ iy

(C) firege ey (D) TR fIeTauIT: ToTTicrese

How many biogeographic zones does India have?

(A)S (B) 6 )8 (D) 10

TR H e SIg-4FMfeTdh 87 5 ?

(A)S (B)6 (©)8 (D) 10
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RO T FR-COANTTE S IR ?

(A)S (B) 6 ©)8 (D) 10

TRATYAT BicIICT ST eI &80 B 2

(A)S (B) 6 )8 (D) 10
7. The components of LPG are —

(A) Methane and Hexane (B) Propane and Butane

(C) Ethane and Methane (D) Propane and Ethane

LPG ®TECH & —

(A) A iR&R  (B) AU 3R e (C) 3297 3R e (D) T 3R g9
LPG-43 Gofniaesfe 251

(A) fites e @ (B) (@79 € REGw  (C) 2= 8 Weaw (D) (&I @ Fa
LPG-&! &ca & —
(A) PR gRA B)UNFaAN T (C) s A R (D) O 31 399
8. results in the formation of soil.
(A) Radiation (B) Weathering (C) Erosion (D) Pollution
forgY & fomfor o apreor —
(A) faferor (B) 39T (C) B (D) Ty
(A) Rfsaet (B) SRt (€)= (D) 73
T AT PR —
(A) fafeor (B) 39&T (C) T3 (D) wIgyr
0. Pollution level in river water is measured by —
(A) ATP (B) STP (C) BOD (D) GPP
Tt 2 ITT b ST T 2T AT STl & —
(A) ATP (B) STP (C) BOD (D) GPP
AR ST TR W@ AR 41 2
(A) ATP (B) STP (C) BOD (D) GPP
NPT UTTepT TGHUT & T ATLTRHT AU 2
(A) ATP (B) STP (C) BOD (D) GPP
10. The phenomenon of marble cancer is due to
(A) Soot particles (B) Acid Rain (C) CFC (D) Fog
1T HR & TS D DRI & —
(A) PIeRG & BT (B) 31T 8T (C) CFC (D) PERIT
N FFIPNER 16110 06 R &
(A) 3 e (B) wifre 32 (C) CFCs (D) T
“TT T BT INT” DT PROT & —
(A) Soot particles (B) 3rctast (C) CFC (D) Fog
1. Which of the following acts as pollution indicator?
(A) Black rocks (B) Mushrooms (C) Trees (D) Lichen

1115 3 Turn Over



FYUGP/VAC/1st Sem./UENVVAC11001/2023

12.

13.

14.
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ST A I TV D & RS E —

(A) Preft FEr (B) 7o €)%
TS (FI0 7S T [RAIE IS ¢ 9

(A) I NS (B) Sy (C) ol=”
UISNUT FEDep] T P o T ?

(A) Bl IEFEH (B) TUSE® (C) vTEw
Ramsar Convention is related to the conservation of

(A) Forest (B) Wetlands
(C) Desert (D) Endangered species
VIR A T GaY 53 GRS T & —

(A) ST (B) #fiet (C) T
AR TG (e R FHRFHOR I 77 IF©

(A) =0 (B) weTrgfil (C) Tgfi
Ramsar Convention & ®! GReT Rid T g & 2

(A) SFTeT (B) REaRe® (C) 7oy
The Forest (Conservation) Act, was enacted on

(A) 1972 (B) 1974 (C) 1980
I RET0T I AT g3 —

(A) 1972 (B) 1974 (C) 1980
el TR SR T 20 =

(A) 1972 (B) 1974 (C) 1980
T SREIUT T el TR T ?

(A) 1972 (B) 1974 (C) 1980
Full form of WCED is —

(A) World Convention on Ecosystem and Diversity.
(B) World Convention on Environment and Development.

(C) World Commission on Environment and Development.

(D) World Commission on Ecosystem and Deforestation.
‘WCED’ BT RTH & —

(A) World Convention on Ecosystem and Diversity.

(B) World Convention on Environment and Development.

(C) World Commission on Environment and Development.

(D) World Commission on Ecosystem and Deforestation.
WCED-&3 35 %7l 1%

(A) World Convention on Ecosystem and Diversity.

(B) World Convention on Environment and Development.

(C) World Commission on Environment and Development.

(D) World Commission on Ecosystem and Deforestation.
WCED-&! quf &9 81 —

(A) World Convention on Ecosystem and Diversity.
(B) World Convention on Environment and Development.

(C) World Commission on Environment and Development.

(D) World Commission on Ecosystem and Deforestation.

4

(D) ®rg
(D) =N

(D) w188

(D) W SIRT: SrArferat
(D) Rew aeifs

(D) fareasm: s
(D) 1981

(D) 1981

(D) 1981

(D) 1981
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15.

16.

17.

18.

19.
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Detritus Food chain always starts from

(A) Algae (B) Animals

(C) Plants (D) Dead organic matter

3TURE TN ST Fad TR Bl & —

(A) daret (B) 7Y (C) & (D) 75T Preffriep wrered
TR D (AF @O FC (53 ©F

(A) TR (B) i (C) Sfewn (D) T (57 T%
Detritus TTeT Gl IO &6 —

(A) o3 (B) agmmoft OESSIRES (D) g Sreif+iep garef
Eutrophication is related to which pollution?

(A) Water (B) Air (C) Noise (D) Soil

DT Icrep GUITUT BT e fehey Tgur <y & —

(A) STef (B) ag (C) eafs (D) forgt

TCR (IR R0 0% 2SRRI 71fF@ 9

(A) & (B) (C) *= (D) &
Eutrophication & @1 YgyUT e e © ?

(A) ST (B) 7Y (C) g (D) T

Which of the following is the cause of Skin cancer?

(A) Acid rain (B) Allergens (C) Ozone layer depletion (D) None of these
<ET e I b AT PRUT & —

(A) 3 quf (B) Teraif (C) 3NN IR RelaRor (D) 375 A Dl &l
0= (@110 Skin IR PIel 2

(A) =rifTe 313 (B) SAICE (C) STE BEESH (D) @02 T
BT e ITeDT IRV & BT ?

(A) 3FeTasT (B) Allergens

(C) Ozone TR Rehiamor (D) A A P Ul BlIeT

Which of the following gas is present in maximum amount in the air?

(A) Nitrogen (B) Oxygen (C) Carbon-dioxide (D) Methane

ST A I AT g g A AT HHT N gl STl & —

(A) TS (B) STafIoT (C) PRF-SE-3MATES (D) i

eI i e ez @i e SwifEfs svw Fat T o

(A) TRCBCE (B) Sifsice (C) FH-Tiz-oize (D) fiea

1 A1 AIGHUSETHT FaHaT T AT U150 ?

(A) IS (B) SifaorT (C) PRF-SE-3MATES (D) i

CPCB stands for

(A) Control Pollution Control Board

(B) Control Pollution and Control Biodiversity
(C) Central Public Commission for Biodiversity
(D) Central Pollution Control Board
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20.

21.

22.
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CPCB P13 g —

(A) Control Pollution Control Board

(B) Control Pollution and Control Biodiversity
(C) Central Public Commission for Biodiversity
(D) Central Pollution Control Board

CPCB 310 & Q@R[ 9

(A) Control Pollution Control Board

(B) Control Pollution and Control Biodiversity
(C) Central Public Commission for Biodiversity
(D) Central Pollution Control Board

CPCB &I quiey &1 —

(A) Control Pollution Control Board.

(B) Control Pollution and Control Biodiversity.

(C) Central Public Commission for Biodiversity.

(D) Central Pollution Control Board.

On which day the World Environment Day is celebrated?

(A) 5th April (B) 5th May (C) 5th June
ST ¥ b7 o ey wafamor gy Ao Smar 8 —
(A)S 3Bl (B)5 7% (©)5 57
T wifica! Tt i wifeT vl 23 ¢
(A) 5 2 @fef (B) 538 (C) 589w
ferer gIfaRT feas g foeT wTgro?
(A) 5 3ier (B)5 78 (C)5 I
is the first trophic level of the food chain.
(A) Herbivores (B) Carnivores (C) Green plants
I T BT Y U RR & —
(A) STHTERT (B) ARITERY (C) U
Q- *EIETR 2T B 26 |
(A) PeiteIGt (B) A (C) & Sfgn
GTEISTIeTd! T2 Trophic level-AT Te —
(A) 9THTERY (B) AERY (C) R g=ufar

The correct order of the 3R principle is —
(A) Recycle, Reuse, Reduce

IR FIGIT BT A A & —
(A) Recycle, Reuse, Reduce

3R’-4F AoF T g =1
(A) Recycle, Reuse, Reduce

(D) 5th September
(D) 5 Rya=R

(D) 5 GH=
(D) 5 R

(D) All of these
(D) g

(D) R

(D) Fr S BT

(B) Reuse, Reduce, Recycle
(C) Reduce, Reuse, Recycle (D) None of these

(B) Reuse, Reduce, Recycle
(C) Reduce, Reuse, Recycle (D) T A IS &

(B) Reuse, Reduce, Recycle
(C) Reduce, Reuse, Recycle (D) &g
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23.

24.

25.

26.

27.
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IR’ RIgT<Ta! Fel o 8T —

(A) Recycle, Reuse, Reduce (B) Reuse, Reduce, Recycle

(C) Reduce, Reuse, Recycle (D) Tt 7y gﬁ afer 8

‘Sustainable Development Goals’ to be fulfilled by which year —

(A) 2020 (B) 2030 (C) 2040 (D) 2050

AT fIT TT& T T IRT fehT TRIT 5 A1l 7 —

(A) 2020 (B) 2030 (C) 2040 (D) 2050

(A) 2020 (B) 2030 (C) 2040 (D) 2050

eI [T T8 el HIRT=HHT JUT T I & 2

(A) 2020 (B) 2030 (C) 2040 (D) 2050

How many levels are there in Environmental Education

(A)3 (B)4 ©2 (D)5

yaferor farer & ) TR BT & —

(A)3 (B) 4 ©)2 (D)5

Al feia 9 530 ¢

(A)3 (B) 4 ©)2 (D)5

TATERUT STETTHT DTl TRED B+ ?

(A)3 (B)4 ©2 (D)5

Which of the following is gaseous cycle?

(A) Sulphur cycle (B) Phosphorus cycle (C) Carbon cycle (D) Nitrogen cycle
FHABH T aH g ?

(A) TR Th (B) BRBRY TH (C) BT Ah (D) TSI Ah
e (@I S b 2

(A) AT 5 (B) T 5F (C) IR 5@ (D) FECTIE ber
TP G TTfe T TP &l 2

(A) TP T (B) BHPRE Th (C) BT Th (D) TSI dsh
Bhopal Gas Tragedy occurred in

(A) 1984 (B) 1983 (C) 1994 (D) 1993
TuTet T FTAS GAT oA —

(A) 1984 (B) 1983 (C) 1994 (D) 1993

G 9 foif S kb zfes 9

(A) 1984 (B) 1983 (C) 1994 (D) 1993
AT T AT o1 ATCTHT T T 2

(A) 1984 (B) 1983 (C) 1994 (D) 1993
Which of the following is not an ex-situ conservation of Biodiversity?

(A) Botanical Garden (B) Gene Bank (C) Seed Bank (D) National Park
T A B 9T fafreraT & gd-Rerfer TiRamr 78t & —

(A) S fraret TS (B) S+ §& (C) T d& (D) IS =

Turn Over
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e @Al bR 931-F) REweR Teee w1 9

28.

29.

30.

31.

32.

1115

(A) QBRI MNET  (B) &9 1% (C) = =
TTPTHER G TTfE IR S ferT HRETT 813 ?

(A) TR 31T (B) Gene §&% (C) ST da
Energy flow in an ecosystem is —

(A) Multidirectional  (B) Bidirectional (C) Unidirectional
Ueh UTRIREeIfcrehT o 5 ST HaTfe sl & —

(A) TCISRRIIAS  (B) ISSRRIIA (C) FrATSRINEITet
gerEd *Ife M3z 7wl 27

(A) T (B) fa-3 (€) &=
TSCT IRAHT 39T I8 §78 —

(A) Multidirectional ~ (B) Bidirectional (C) Unidirectional
The pyramid of energy is always —

(A) Upright (B) Inverted (C) Horizontal
It apT foRTAS &g & —

(A) Upright (B) Inverted (C) Horizontal
g *few PrIfe 7w

(A) TEg (B) GBI (C) >Freet
Iuffep! RIS e 578 —

(A) STeT (B) Hee (C)
Which element is the cause of ‘itai-itai’ disease?

(A)Cd (B) Hg (C) As
‘Ttai-Itai’ IT & foTU P T dcd SR & —

(A)Cd (B) Hg (C) As
2512-3512 @R &) (i o] [l willl 9

(A)Cd (B) Hg (C) As
‘Itai-Itai’ INTep! T T e FHIER B 2

(A)Cd (B) Hg (C) As
Kaziranga National Park is famous for —

(A) Tiger (B) Muskdeer (C) Elephant
DTSN ISE T I faeaTd § —

(A) e (B) et fevor (C) greft
Siferatel eor Syl BT &) [RTe

(A) A9 (B) WEfaa (C) af®
BISTRIT ISERT eI &P Y AT e 2

(A) a1 (B) PRI (C) et

Jet planes flies through which layer of the atmosphere

(A) Troposphere (B) Stratosphere

(C) Mesosphere

(D) SO Sryie
(D) fSea e
(D) Cyclic

(D) wrgfereten

(D) bFIFIR

(D) Cyclic

(D) None of these
(D) FTH A DI Tl
(D) FI{02
(D) Fr7ed P afy Bl
(D) Pb

(D) Pb

(D) Pb

(D) Pb

(D) Rhinoceros
(D) Her

(D) s&

(D) Her

(D) Thermosphere
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VIC BATS STETST AIgHS e & (e TR IR ISel & —

(A) &M ASet (B) AT ASeA (C) HARHRR (D) 2FRhRR
NG (i B 0 (&0 (2l HeTbet B 2
(A) CEICoiFE (B) FicwiFata (C) (eIt (D) i
SIC BATSOTEIS ARIHSAD] P TRETC IST ?
(A) Troposphere (B) Stratosphere (C) Mesosphere (D) Thermosphere
33. Which of the following is the vector-borne disease?
(A) Cholera (B) Hepeatitis (C) Dengue (D) Typhoid
IR SAA AT TS ?
(A) PIeRT (B) sqrerEfest (©) =T, (D) TEHIES
feefeiie i cega-aifee ol ¢
(A) FCTI (B) ARG (C) (o5, (D) SIRFEE
eI T T & 2
(A) &SI (B) Hepatitis (F8e)  (C) ST (D) TIEHIRS
34. Earthquake is measured in which scale?
(A) pH scale (B) Linear scale (C) Richter scale (D) None of these
JeprY ! fohed I A HIUT AT & 2
(A) pH scale (B) Linear scale (C) Richter scale (D) STH A PIS &1
G Wl (FI CHCT AR AN F01 2 2
(A) pH (&= (B) Tetfertiz ez (C) <0 cFa (D) @b T
ST AT TS 3 D —
(A) pH scale (B) Linear scale (C) Richter scale (D) ﬁmgﬁqﬁiﬁﬁ
35. Which is not a source of fresh water?
(A) Glaciers and ice sheets (B) Ground water
(C) Surface run-off (D) Oceans
T A BN LG STeT BT AT 781 & 2
(A) TIRRR 3R ath &Y AR (B) y=ie
(C) T T 3Th (D) HENITR
@ faifE s e =19 2
(A) TRz ¢ 7w (B) ©-91S% & (C) B-*P% & (D) SR
PTG TSI TeDT AN 815 ?
(A) femel 31t sthep! TgTgE® (B) *qutet
(ORSEELEARIEI (D) HERITR
36. Acid-rain is mainly a mixture of
(A) Sulphuric acid and Nitric acid (B) Hexane and Methane
(C) Acetic acid and Bromine (D) Ascorbic acid and Citric acid
3l o1 e U F s —
(A) TR 3l 3T Tfed 37t (B) & 3R 1
(C) Uffees areT IR ST (D) Tpifep TTS 3T gl TR

1115 9 Turn Over
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e 312 el e e 9
(A) AFRFERS oI © TG it (B) @ ¢ fas
(C) =i e € @mizs (D) GFFRRT i 8 #MEfTs i
SFTaT Trera: fosToT 8T —
(A) TeHR e 3T ATZfH 3rvet (B) & 31 et
(C) Tfafee o et afy Afe (D) I 3t 31 ATl el
37.  Which of the following is not a green house gas —
(A) Oxygen (B) Carbon-di-oxide (C) Water vapour (D) Methane
TR AP I eI TR 82
INEIESISE] (B) BEA-SR-3MaSS (C) STefiar arsq (D) fee
TE @0 S 218 97 7
(A) SifSCE (B) FI-TIR-IHIZT  (C) Tt el (D) fSica
ERTE R 815 —
(A) 3TaAS (B) PEA-SE-31GARS  (C) STt arsq (D) frae
38. Study of trends in human population growth and prediction of future growth is called —
(A) Demography (B) Biography (C) Kalography (D) Psychology
T & ST i BT AEIIT 3R I H gig BT BT ATH DT H&T STl & —
(A) SR (B) SitgiT (C) 37&RTepT (D) Ff=
e 47T I 2Rerel @ BfRTe SeeR A e SRR JeT 27 9
(A) CTCialfF (B) Atz (C) Iyl (D) Figcalaifze
HIE SR Jfgep! 31 AIGSMT gfeg g1 SFHD! 3oty e —
(A) SRR (B) Sftat (C) 37eRidT (D) T
39. The Salinisation can be defined as —

(A) Accumulation of salts in the body.
(B) Accumulation of salts in water.
(C) Accumulation of salts in animals.

(D) Accumulation of salts in the soil.

AU B AR & —
(A) TR 9% BT AT 8T (B) T H e T STHT BIT]
(C) SR H THS BT AT 8T (D) e o THD BT ST &1
TRASFIS TSRS I g F41 @S MM
(A) *IH & S (B) (T 3116 G
(C) &M Sy 7100 Sl (D) oo #7e TT=ce A
TeAYenvor ot afeTeT 8T —
(A) IRRHT T THT&] (B) U1 ST &
(C) SITeRAT I ST & (D) ATCHT T ST &5

40. The solar cell converts which energy into electrical energy

(A) Chemical energy (B) Solar energy (C) Magnetic energy (D) None of these

1115 10
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41.

42.

43.

44,
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R et fob 31T T fre]el ST H a/eerell & 2

(A) IR I (B) AR i (C) bty It (D) TH A PIS &I
G &I *f & @gyfes *fete Fieiie 3@ ¢

(A) IR #fe (B) Glizife (C) Greaife (D) (PIHE

IR Aol P I TATS Tl ST TR TES 2

(A) I It (B) IR i (C) Yecbrar I (D) Fr7e P ufy Bl
Which of the following is a renewable source of energy?

(A) Coal (B) Uranium (C) Wind (D) None of these
T G P IAT P FADPRONT AT 8 2

(A) DT (B) Zf¥ (C) & (D) ST A 1S TE
R F0 T *=ifea T 9

(A) T (B) 2&=N (C) A (D) @b 7

P Tfe SoATep! T PRV SN 8T 2

(A) Prge (B) Zf7er (©) T (D) A= Py uf &
The uses of CFCs are —

(A) Insulators (B) Aerosol propellants

(C) Refrigerants (D) All of these

CFC TN 8T e —

(A) Insulators (B) Aerosol propellants

(C) Refrigerants (D) ST ATt

CFCs-99 9219 23 &4l

(A) SIS (B) SHIPTE (AT (C) RRFSIEDA (D) 70
CFC-®T YR B AT ES ?

(A) Insulators (B) Aerosol propellants

(C) Refrigerants (D) A BT

Which of the following energy is stored in the earth?

(A) Mechanical energy (B) Solar energy

(C) Chemical energy (D) Geothermal energy

gl 5 I AT I T STHIE BIT & 2

(A) TifFd St (B) IR St (C) I Helt (D) Y19 Foi 1
e @ =& 7R Srere e A 9

(A) AfEs =fe (B) 7= *If& (C) FPmIf = (D) g-©if *If&
g T Ioif HUSR &0 ?

(A) Mechanical 911 (B) IRf ol (C) I Helt (D) YU St
Which of the following is necessary for photosynthesis?

(A) Sulphur (B) Phosphorus (C) Chlorophyll (D) Chloroform
TR H foreaehT STTaeandl Blcil & 2

(A) FARR (B) BR®RE (C) FeIRIfthet (D) FARITBH
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AT @0 AN TR T FARRE ToAtwle 9

(A) AT (B) TATAN (C) FIAIfFs (D) GG
eRTeRICT D] M dAdr e éﬁa”ff AP IS ?
(A) Sulphur (B) Phosphorus (C) Chlorophyll (D) Chloroform
45. Which human activity can decrease the oxygen levels present in the atmosphere?
(A) Deforestation (B) Animal hunting  (C) Mining (D) Irrigation
AT & BI AT PR AGHSE H SURRAT SIS b WR DT PR 8 ?
(A) T B BeTs (B) ugRN BT RBR () T (D) R=rg
AR I FFAAD ATNSETR T SRS QS 2 I 9
(A) TR (B) i (C) <o (D) GTb
HIED! P! TTIe el IRIAUSHT U 3R 5! HHAT HCRS B ?
(A) I (B) TMRPI ¥R~ (C) @ (D) Raarg
46. Who is often referred to as the ‘Father of the Green Revolution’ in India?
(A) Mahatma Gandhi (B) Jawaharlal Nehru
(C) Indira Gandhi (D) M. S. Swaminathan
AR H R ghifcT b ST1eh [ch<y BT I & ?
(A) HETHT et (B) SATRATT 8w (C) Syl (D) UH. T TN
IS T R T [ZAIC DI 5o 1 = 9
SEERIRIE (B) &i2gelel (legse (C) Bl airht (D) @93, FIMA
TRAGYHT SRABIADT TP DTS TS ?
(A) FETHT el (B) SATRATT 8w (C) Sy et (D) UH. T TN
47. What is the permissible daytime noise level (in decibels) in residential areas as per Indian
noise standards?
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
TR H &7 b THT JATIRIT & H AR BT &R FATE 2
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
ST NS eI ©ITSR ST ST = SIS ] F'© 9
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
TRTTGHT [SIHT ST &FHT BT IR DIRTH EIUS ?
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
48. The Silent Valley movement in India was primarily focused on the conservation of which
ecosystem ?
(A) Desert (B) Rainforest (C) Grassland (D) Wetland
AR H AT E1CT JTaleT a2y U & qTRReerfcres o 9 fohet TRET0T & 3R AR <1 & 2
(A) T (B) gqsf (C) o4 & He™ (D) sftei
ARG SPIfe ST LTS AFOCE (Pl IRTFE T FNEAFAIS FC 9
(A) TFg (B) I8 ey (©) weref (D) TeTgf
TRAGYHT Silent Valley Movement STIfSER0HT 3 BT SREOTHTIRY TR © 2
(A) 7 (B) aufe (ORIGEICER DEISE
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49. The primary goal of sustainable development is
(A) Environmental preservation only.
(B) Economic growth at any cost.
(C) Meeting the needs of present without compromising future generations.

(D) Social equality above all else.

I TPt o TR e & —
(A) Pacet TATERUT BT TRETT HRAT
(B) fopsdt ot dhiwet o 31 faapr
(C) foFT F7taT fohg o1 arefY tife & forg aci= & §8a@ =
(D) It A AT FHAT AT
Efee SracT aefis o fF 9
(A) ST AR 7RI T
(B) @ (I ©itd s Jfan 4l
(C) SRS LTI A B 9l I, ISNCTR Bifzwt 27 F1
(D) IR A A& ATe!
AT fIepTRIEDT TRT & BT —
(A) Paet qATaRIET &l T
(B) SRIRT {uufe 31 faamrer
(C) AT FfelelTs AT RGN IeTHI Hreiferepl STeehelT gfel
(D) FIHT FHTRD FHFT AT
50. CITES is an international agreement aimed at regulating the trade of
(A) All animals and plants (B) Only endangered plants and animals
(C) Only plants (D) Only marine species
CITES U&h SaRTSCRT THSIT & fIIehT 3890 QMR Y Ief =T —
(A) Tt ogd sk dter (B) SaeT HehCHT Urer 3R ugd
(C) PaeT dter I)EECELERSIRD
CITES «<f wiewifes pfe ai fifon Sfen =k 2z qifdsy fmad Face todt a1 2z 9
(A) % Bfgr @R A (B) Blg [Riei Tigw @k i
(C) vy Tfen (D) &g o 2wl
CITES & &I ATIRTS (=07 T U3l S=RifSe Frsildr &t ?
(A) 9 gRgfer 37 aggeoft (B) faregamg: swregfer 31f agumoft /s
(C) FAEufer 9 (D) STei gy /1Y

51. What is the main objective of the UNCCD?
(A) Promote desert tourism
(B) Combating desertification and mitigating the effects of drought
(C) Expanding desert areas for agriculture

(D) Protecting deserts from any human activities
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52.

53.

54.

1115

UNCCD &1 & 3237 & —

(A) R q2ieT &1 gl e

(B) HFRRIGHIEPRUT BT DT 3R TR & TTd bl bH BRI
(C) IETT & b FaeTR BIR iy

(D) &S & el fehTehelTd & HoweleT T THRETUT HRAT
UNCCD-49 @iyl o759 1<

(A) TRERE B e F4l

(B) 43R eReI eHfEre I SRegfs emiRe 2o ikl (el
(C) IR G TF SHHA(F IJIZTS A

(D) @ (P TRT FRIFA (AT TEHIE T T4l
UNCCD-! &3 I3% &l —

(A) THT TicT! fepTer 7]

(B) FRMHIPRUIT HHTT AT s Bl IS BerS
(C) FovHT &1 Y faeaTR

(D) FOYHITS A fehAThATIdTE TS

What is thermal pollution?

(A) Pollution caused by chemicals in water

(B) Pollution caused by excessive heat in water bodies
(C) Pollution caused by noise in industrial areas

(D) Pollution caused by radiation in water

SeHI TEYUI T & 2

(A) U 5 IRTRIfED USTef & GRT ISy (B) UTT o 3fcTferes eHT b GIRT HGuUT
(C) 3itenfies &=l 7 eafey o R uguor (D) T & fafhRoT & RUT 8 Tt SIgyur
ORI 79 IO T @R 2

(A) A S e et wael (B) GeTICIR (K &lRR Ol Jfens pisicel et w2l
(C) Tisn=eceTa STCay *ergacer wrced w3el (D) iteTs Siey Rifesicets el w3el

ST TSI & &l 2

(A) TTHTHT SATIDT TrHTeel &1 Hgu0T (B) UTHT 3FeaTfere SiTdel 8 Hguur

(C) 3ienfiiep &= seeTTel g gy (D) 9T Radiation @1 PRIt 87 HGHUT
What is the primary tree species found in the deciduous forests of North Bengal?

(A) Oak (B) Pine (C) Sal (D) Maple

TR ST & Ueiehs 1 5 G0 0 H b ISiTeq b U TR 1Tl & 2

(A) Oak (B) Pine (C) Sal (D) Maple
Teaaeerd AT SR 2l SRR eeifs I 9

(A) ST (B) #igs (C) =Mt (D) &
STREAD] Ydele §HT = ng_"f PN REARSICESS g ?

(A) 3N&H (B) Pine (C) Sal (D) Maple
What environmental impact is associated with open-cast mining?

(A) Soil-erosion (B) Air pollution (C) Noise pollution (D) All of these
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Xgei! WS TS B FHI FTERUT T T 4T TSl & 2

(A) frt T e (B) g HmoT (C) &af guur (D)
TG 4o IR T AR TofR (I LSI_(G 210T 9
(A) &1 (B) g el (C) ¥ 7zl (D) =0
Open-Cast Mining @ GITaRUMT &l TTe UTes ?
(A) 1T &roT (B) arg 5T (C) & HeyuT (D) e e
55. Which one of the following is not a recognised biodiversity hotspot in India?
(A) Eastern Himalaya (B) Western Ghat
(C) Andaman and Nicobar (D) Eastern Ghat
ST A DI AT &F TRA H 519 AT o SFeRie T8l ST & 2
(A) gdf fearera (B) uf3HTame (C) =M AR PR (D) yaf are
0T RIS SRR SRBEa 25715 R Rigpe =4 7
(A) & e (B) #f<5s1ais sRewa  (C) S @k e (D) 7%
HRATYHT TABHE] P 16 Biodiversity Hotspot 815 2
(A) Eastern Himalaya (B) Western Ghat
(C) Andaman and Nicobar (D) Eastern Ghat
56.  Which of the following is considered a primary air pollutant?
(A) Smog (B) Ozone (C) Sulphur dioxide (D) PAN
$TH A B T I1g USIUT b PRUTE ?
(A) Smog (B) Ozone (C) Sulphur dioxide (D) PAN
IR @R alfE IRTE BT 516 91 23 9
(A) @& (B) &= (C) ARTPR-BI2 SHZE (D) PAN
TCTDTHE G TTfe TR a1 ISP &l ?
(A) Smog (B) Ozone (C) Sulphur dioxide (D) PAN
57.  Which human right protects an individual’s right to express their beliefs and opinions freely.
(A) Right to privacy (B) Freedom of religion
(C) Freedom of speech (D) Right to education
AT & {7 STUBIR & STt afehIel SRR AT & TR a8 Taci o 9 30 ey 3R R apr
TehC PRI & ?
(A) Right to privacy (B) Freedom of religion
(C) Freedom of speech (D) Right to education

(I NIRRT 2oy it e s @) Tl S[icy 25 F<0S 21t ?
(A) GliFTRoR ofSE  (B) <3 FiETel (C) TR FETel (D) Frriw wids=
HHEDT P JATDR SR SRR JfRDPR ISE ST I Iaqq AT AT e 31 R

Uhe eB ?
(A) Right to privacy (B) Freedom of religion
(C) Freedom of speech (D) Right to education
58.  What is the term for the variety of different species in an ecosystem?
(A) Population (B) Habitat (C) Biodiversity (D) Community
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59.

60.

1115

uTRReIfITR T & AT USTIRIRIT & 9T 3T=elR U7 ST & 2

(A) SHIEIT (B) wmepfeied areq (C) Sta fafererar (D) ¥9ET
AgeEd (e awifors e = 9

(A) TR (B) T (C) E<tafowy (D) FemiT
R ITTfcreead! [ ThReTs & 9o ?

(A) Population (B) Habitat (C) Biodiversity (D) Community
Which of the following technique is beneficial for soil conservation?

(A) Overgrazing (B) Deforestation

(C) Terracing (D) Leaving fields bare during heavy rain
ST 3 ARET & foTU DI AT Tepet 1oh BRISHS & ?

(A) 3fferIRoT (B) T1 Y HeTg

(C) HIeR W s T (D) a8T & T HS WTeft BreT
e @19 *iwfsib e R e ST ¢

(A) Sfofie bR (B) TFC=A

(C) Geahr (D) I 313 I & T A4
HICT EREUTT T et fegUdT UghiTed P w1fe traeTo & 2

(A) 3rfcraRuT (B) ST

(C) IR faRTST (D) 9T 99T g1 ST afsiT e

An example of natural pollution is —

(A) Forest fire (B) Volcanic eruptions

(C) Natural organic decays (D) All of these

Teh Tpeieh TGHUT T ITERVT & —

(A) SITeT 5 3TRT 7] (B) SATITE &7 faewhie

(C) UTepferep Sifeen & (D) 79 I 9+t

PO TR TuIzge &

(A) RIIe (B) SNCaeIRE Sijesiie

(C) arpfos terrmizgeel (D) 7o

Hepeieh FEHURDT TICT SETERUT &1 —

(A) STTHT JTRTART (B) Volcanic eruptions

(C) ATepicren prif~ieh &Ry (D) A & BT

X
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